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C:\Users\Minwei\Projects\Qt\TcpServer\tcpserverwindow.h:

#1ifndef TCPSERVERWINDOW_H
#define TCPSERVERWINDOW_H

#include <QMainwindow>
#include <QLabel>

#include <QTcpServer>
#include <QTcpSocket>

QT_BEGIN_NAMESPACE
namespace Ui { class TcpServerwindow; }
QT_END_NAMESPACE

class TcpServerwindow : public QMainwindow

{
Q_OBJECT

public:
TcpServerwindow(Qwidget *parent = nullptr);
~TcpServerwindow() ;

private slots:
void on_m_actListen_triggered();
void on_m_actClose_triggered();
void on_m_actClear_triggered();

void on_m_btnSend_clicked();
void on_m_server_newConnection();

void on_m_socket_readyRead();
void on_m_socket_disconnected();

void on_m_socket_stateChanged(
QAbstractSocket: :SocketState socketState);
void on_m_socket_error(
QAbstractSocket: :SocketError socketError);

private:
Ui::TcpServerwindow *ui;
QLabel* m_TlabListenState;
QLabel* m_TlabSocketState;
QLabel* m_TlabSocketError;
QTcpServer* m_server;
QTcpSocket® m_socket;
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#endif // TCPSERVERWINDOW_H

C:\Users\Minwei\Projects\Qt\TcpServer\tcpserverwindow.cpp:

#include <QHostInfo>
#include <QMetaEnum>

#include "tcpserverwindow.h"

#include "ui_tcpserverwindow.h"

TcpServerwindow: : TcpServerwindow(Qwidget *parent)

: QMainwindow(parent)

, ui(new Ui::TcpServerwindow)

, m_TlabListenState(new QLabel("WiMriRAS: £H™))
, m_labSocketState(new QLabel (" EfFRAE: ™))
, m_labSocketError(new QLabel(" EfF4E%: "))
, m_server(new QTcpServer(this))

, m_socket (Q_NULLPTR)

ui->setupui(this);

for (QHostAddress address : QHostInfo::fromName(
QHostInfo::TocalHostName()) .addresses())
if(address.protocol() == QAbstractSocket::IPv4Protocol)
ui->m_comboLocalAddr->additem(address.toString());

m_labListenState->setMinimumwidth(196);
ui->m_statusBar->addwidget(m_labListenState);
m_TlabSocketState->setMinimumwidth(197);
ui->m_statusBar->addwidget(m_labSocketState);
m_labSocketError->setMinimumwidth(197);
ui->m_statusBar->addwidget(m_labSocketError);

connect(m_server, SIGNAL(newConnection()),
this, SLOT(on_m_server_newConnection()));

TcpServerwindow: :~TcpServerwindow()

{

delete ui;

void TcpServerwindow: :on_m_actListen_triggered()

{

QHostAddress address(ui->m_comboLocalAddr->currentText());
quintlé port = ui->m_editLocalPort->text().toushort();

if (m_server->1isten(address, port))

{
ui->m_editoutput->appendPlainText(QString (" W%l :%2/%1h") .
arg(address.tostring()).arg(port));
m_labListenState->setText(QString(" Wik %1:%2").
arg(address.tostring()).arg(port));
}

else



ui->m_editoutput->appendPlainText(QString("Wr%l:%2KM") .
arg(address.tostring()).arg(port));

void TcpServerwindow: :on_m_actClose_triggered()

{
m_server->close();
ui->m_editoutput->appendPlainText ("KM ;
m_labListenstate->setText ("Kilfihi: %i");
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void TcpServerwindow: :on_m_actClear_triggered()
{

ui->m_editoutput->clear();

void TcpServerwindow: :on_m_btnSend_cTicked()

{
QByteArray data((ui->m_editSend->text() + "\n").toutf8());
qint64 nbytes = m_socket->write(data);
if (nbytes == -1)
ui->m_editoutput->appendPlainText (" Ki%KE") ;
else
ui->m_editoutput->appendPlainText(QString ("%l : %2k i%%3F T : %4").
arg(m_socket->peerAddress().toString()).arg(m_socket-
>peerpPort()).
arg(nbytes).arg(Qstring(data).trimmed()));
}

void TcpServerwindow: :on_m_server_newConnection()

{
if (m_socket != Q_NULLPTR &&

m_socket->state() == QAbstractSocket::ConnectedState)
m_socket->disconnectFromHost();

m_socket = m_server->nextPendingConnection();

connect(m_socket, SIGNAL(readyRead()),
this, SLOT(on_m_socket_readyRead()));
connect(m_socket, SIGNAL(disconnected()),
this, SLOT(on_m_socket_disconnected()));

connect(m_socket, SIGNAL(stateChanged(QAbstractSocket::SocketState)),
this,
SLOT (on_m_socket_stateChanged(QAbstractSocket: :SocketState)));
connect(m_socket, SIGNAL(error(QAbstractSocket::SocketError)),
this, SLOT(on_m_socket_error(QAbstractSocket::SocketError)));

ui->m_editoutput->appendPlainText(QString("%52%L:%2i%EH%") .
arg(m_socket->peerAddress().tostring()).arg(m_socket->peerpPort()));

ui->m_btnSend->setEnabled(true);



void TcpServerwindow: :on_m_socket_readyRead()

{

while (m_socket->canReadLine())

{
QByteArray data = m_socket->readLine();

ui->m_editoutput->appendPlainText(QString (" M%1:%24EU %371 : %4").
arg(m_socket->peerAddress().toString()).arg(m_socket-
>peerpPort()).
arg(data.size()).arg(Qstring(data).trimmed()));

void TcpServerwindow: :on_m_socket_disconnected()

{
ui->m_btnSend->setEnabled(false);
ui->m_editoutput->appendPlainText(QString (" WiIT%L:%2i%E%") .
arg(m_socket->peerAddress().tostring()).arg(m_socket->peerprPort()));
m_socket->deleteLater();
m_socket = Q_NULLPTR;
}

void TcpServerwindow: :on_m_socket_stateChanged(
QAbstractSocket: :SocketState socketState)

{
m_labSocketState->setText(QString(" EfETRA: %1").arg(
QMetaEnum: : fromType<QAbstractSocket: :SocketState>().
valueToKey(socketState)));
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void TcpServerwindow: :on_m_socket_error(
QAbstractSocket: :SocketError socketError)

{
m_labSocketError->setText(QString(" E#74HHR: %1").arg(
QMetaEnum: : fromType<QAbstractSocket: :SocketError>().
valueToKey(socketError)));
3
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2 TcpServerwindow: : TcpServerwindow(Qwidget *parent)
3

41 {

5

6 connect(m_server, SIGNAL(newConnection()),

7 this, SLOT(on_m_server_newConnection()));
8

9|1
10 ...
11  void TcpServerwindow: :on_m_server_newConnection()
12 {
13 e
14 if (m_socket != Q_NULLPTR &&
15 m_socket->state() == QAbstractSocket::ConnectedState)
16 m_socket->disconnectFromHost();
17
18 m_socket = m_server->nextPendingConnection();
19
20  }
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